
SM3 7.3 Law of Sines – Odd Answers 

1.   𝑚∠𝐴 =  53.13°  

     𝑚∠𝐵 =  36.87° 

      𝑎 = 8 cm 

3.  𝑚∠𝐴 ≈ 18.0° 

5.  𝐴𝐵̅̅ ̅̅ ≈ 14.0 meters 

7.  𝑚∠𝐴 =  38°      𝑎 =  16 mi 

      𝑚∠𝐵 =  88°        𝑏 =  26.0 mi 

      𝑚∠𝐶 = 54°          𝑐 =  21.0 mi 

9.  𝑚∠𝐴 =  114°        𝑎 =  39 in 

     𝑚∠𝐵 =  25.0°       𝑏 =  18.0 in or 18.1 in 

     𝑚∠𝐶 = 41.0°              𝑐 =  28 in 

11.  𝑚∠𝐴 =  139°        𝑎 =  30.9 in 

     𝑚∠𝐵 =  25°             𝑏 =  19.9 in 

     𝑚∠𝐶 = 16°              𝑐 =  13 in 

13. 𝑥 = 19.7 𝑚𝑖𝑙𝑒𝑠 

       𝑦 = 9.6 𝑚𝑖𝑙𝑒𝑠 

15.  

 

𝑚∠𝐶 =  60°      𝐴𝐶̅̅ ̅̅ =  16.1 m 

The length of the wall is 16.1 feet. 

 

 

 

 

 


